thar

m

d°c/ d

Ratio to ATLAS

{t} d tbar{t} [pb / Gevz]

=
o
&

-
o
&

B
o
1,

[EEY

0.5

13000 GeV pp tt

T I T I T | T I I T I T I T | T I T I T I T I T | 9
3
= M(ttbar) (ATLAS semileptonic ttbar) =K
— 1=
~ m  ATLAS 1%
| Pythia 6.428 350 An
| --&-- Pythia 6.428 351 13
--¥-- Pythia 6.428 352 .
— 4 Pythia 6,428 353 — T
— —H>
— --O-- Mithia 6,428 354 o

~ - Byiia 6.428.355 n

o Pythia6.428 356, .
B ,féﬁbythia 6.428 357 i 4
/Pythia 6.428 358 i &
=% Pythia 6.428 359 ; — ™
— ¥ Jdo
: 1 13
— i <
— ¥ 1.2
Y e
S,
— <
(&)
<
— 38
- 30
| 2
N ]o
| a
— (&)
S S U S A S
— -2
i _‘}_ 1

. ]

L —0.5
1 1 " | " 1 1 1 1 " | " 1 " 1 " 1 " 1 " |
1000 2000 3000

m®y [Gev], Hf"’““} in [780,2500] [GeV]



	Contents
	Page 1


